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I Analysis of final clause- dispute — YRynw’ "1’s approach to 19°® 07w nptn (3 harvests)
a  Implication: 127 would agree that if he had 30 trees planted in a grove of 10 trees per nko n’a (2500 sq. mnR) and he har-
vested 10 trees year 1, another 10 year 2 and another 10 year 3 — nptn
i Argument: just as ™ said that one type of fruit is a nprn for all the fruit of that orchard
1 Similarly: 13121 would say that each set of 10 is a npn for the other 20
2 Caveat: only if the other 20 aren’t producing that year (i.e. he’s harvested all the productive trees)
3 Caveat: only if the trees are spread throughout the grove; but if the 10 he works one year are all concentrated,
the npm is only valid for that section
II  Dispute between 1ar 3 and 892 " regarding land with trees sold to two buyers, no one has better claim
a  if: 1 possessed land, the other seized the trees
i Ruling ('ar 77): each receives what he seized
1 Challenge (97): one who seized land can evict the other,
ii  Rather: the one gets the trees and half the land (i.e. the amount needed for the trees) the other gets half the land
1  Tangent: if a landowner sold his land but kept some trees, he automatically withholds land (as per need)
(a) Ewven: according to ™, whose position (regarding the sale of a 111 is that the seller sells generously and
doesn’t keep an easement to his own house) — he keeps the land
(i) Explanation: in the case of a 113, usage around it doesn’t hurt the 113; here, if he loses the land, owner
new owner of land could tell him to uproot his trees as they use up the land
2 Inverse: if a landowner sells his trees
(a) According to y”r. he also sells land (the buyer can plant new trees there is these wither)
(i) Ewven:according to 1a1 7, who gives the one who seized the trees no land — that case involves two
buyers; in this case, we employ the principle of 12y X1 19’ PYa 990
(b) According to 1237 he doesn’t sell land, only trees
(i) Ewven:according to 8™ (who gives the one who seized the trees half the land) — that case involves buy-

ers, each of whom may claim that the seller sold generously; but here, we employ the principle of
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III Return to implication from our mwn — if he harvested 30 trees in NXko n’a, NpN
a  Dissent (»p77712): even if he used all of them all three years — no npmn
i Reason: this isn’t the usual method of planting — these trees are too close and must be transplanted
1 Challenge (X17): if so, how is someone p1nn a bed of lucerne (grows in impacted area); rather...
ii ~ n27if he sold trees within this confined grove, the buyer gets no land
1 Reason: the trees must be uprooted and transplanted, due to the narrow confines
iii Note: X917 identifies this ruling as subject to a dispute w”1/Dn31 re: 0720 'R
1 Case: if a vineyard is planted with less than 8”1 between each row
(a) @™ not considered a o713
(b) owom we ignore the middle ones and it is a 13
IV Rights to replanting for buyer of tree (alone)
a  y77xif he buys a tree, he has rights to the land below
i Purpose: if the tree withers, he may replant in that spot
ii ~ Dissent (¥27): why can’t seller argue that he sold him something to be grown and then excised? Rather
b ~27:this is only valid if he makes a claim (that he bought the land as well, lost the 70w as he’s been there 3 years)
i Challenge; if so, how does someone who only sold the tree prevent a nptn on the land?
1 Answer: as we did for X107 XmdWN - he must protest every (less than 3) years.
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